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1 MR =E N5 KIEBHITERITOKBIKIRYST 34 11850 2 39 12950 1 41 11950 2 4.3 12850 1 157 49.600 1
2 FR B N5 RIEBHITIRITOKBAKIEIST 34 11650 3 3.8 11900 2 3.8 11650 3 3.7 12.050 2 147 47.250 2
3 =Ef/E 16 B ENBARIEIST 34 11600 4 13 8800 4 33 11.100 4 3.7 11.600 3 11.7 43100 3
4 FHE IS B ENBARIEIST 34 11550 5 1.4 8950 3 34 10300 6 36 11450 6 11.8 42250 4
4 FH 5% 16 B ENBAKIEIST 34 12000 1 14 8050 6 32 10600 5 3.6 11.600 3 11.6 42250 4
6 PR Ei IN5 B LEI\WEKIRDST 34 10800 7 13 7850 7 34 9100 9 34 11450 6 115 39.200 6
7 LU BK a4 Iz B R 2 Y E = 20 8150 11 25 7300 10 4.0 12100 1 3.6 11.600 3 121 39.150 7
8 &R RN NS BRI A=TREISD 32 11500 6 1.2 7.800 8 3.7 8600 10 3.3 9.500 10 11.4 37.400 8
9 FiEHFE e SEINO.GYM 26 9750 8 12 8200 5 26 9650 8 26 9750 9 9.0 37350 9
10 FRiEMELE M4 SEINO.GYM 16 8950 9 11 7.800 8 32 10000 7 24 9950 8 83 36700 10
11 BHEE 16 BRI A=TIRIEYST 16 8700 10 1.0 4700 11 29 8050 11 25 9300 11 80 30.750 11
12 EO FH 16 Iz B 23 *ry *ry *Try *ry *Ty




